Solving Linear Equations (Workshop Version)

Multiple Solution Strategies

Solve:  3x + 4 = 10

1.  Devise and carry out as many solution strategies as you can.

2.  For each of the solution strategies below:

· Put a checkmark next to the strategy if it is one that you used.

· If you did not already use that solution strategy, carry it out now.

· Discuss some advantages and disadvantages of each strategy.

· Discuss some teaching and learning issues related to each strategy. For example, do you think a student might use this strategy? What would you do as the teacher if you saw a student using this strategy? Would you explicitly teach this strategy?

3.  Did you use a strategy that is not listed below? If so, add it to the list and discuss it as above.

Solution Strategy 1:  By Inspection (or Guess and Check)


Is there a number such that when you multiply it by 3 and then add 4 you get 10?


That is, fill in the box:  3 * ( + 4 = 10.

Advantages:


Disadvantages:


Teaching and Learning Comments:

Solution Strategy 2:  Standard Symbolic Manipulation


Subtract 4 from both sides, then divide both sides by 3.

Advantages:


Disadvantages:


Teaching and Learning Comments:

Solution Strategy 3:  Non-Standard Symbolic Manipulation


Divide both sides by 3. Then continue manipulating until you get x = (.

Advantages:


Disadvantages:


Teaching and Learning Comments:

Solution Strategy 4:  Table

Consider y = 3x + 4. Enter this function into your calculator. Set up a table with proper step size and range so that you can locate the solution to the equation 3x + 4 = 10.

Advantages:


Disadvantages:


Teaching and Learning Comments:

Solution Strategy 5:  Graph

Consider two functions:  y = 3x + 4  and  y = 10. Enter these two functions into your calculator. Graph in the proper window so that you can locate the solution to the equation 3x + 4 = 10.


Advantages:


Disadvantages:


Teaching and Learning Comments:
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